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4\ Neural Fitting (nftool) — O X
>
Welco
fx >

Solve an input-output fitting problem with# two-layer -forward neural network. / /
Introduction Neural Network
kWn a data set of

In fitting problems, you want a neural networ Hidden Layer Output Layer

numeric inputs and a set of numeric targets. W—Wﬁ\ E } Output
Examples of this type of problem include estimating engine emission levels

based on measurements of fuel consumption and speed or
predicting a patient's bodyfat level based on body measurements

A two-layer feed-forward network with sigmoid hidden neurons and linear
output neurons , can fit multi-dimensional mapping problems

arbitrarily well, given consistent data and enough neurons in its hidden layer.
The Neural Fitting app will help you select data, create and train a network,

and evaluate its performance using mean square error and regression

The network will be trained with Levenberg-Marquardt backpropagation
analysis.

algorithm , unless there is not enough memory, in which case scaled
conjugate gradient backpropagation will be used.

® To continue, click [Next].
“« Neural Network Start W \Welcome

+ Back @ Cancel
I
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1 Il O
OO rﬂ ﬁ

= S S

—

10-10 -

(esw) 10413 parenbs uesy

)
\

0

I svtooo 0

1 set0000
4 sz1000°0
151100070
S0T000'0
G0-9€5°'6 a
H{50-s55°8 M
G0-99G°L 5
50-985°'9 n_u
{50-965°G m
G0-919'V M
G0-9z9 €

Train

Validation

Test

Best
Zero Error

I Training
[ validation
I Test

1

G0-999'T W
90-3/99 i
90-9c’e-
S0-9€'T-
S0-3€"¢-
S0-9¢’€-
S0-9€ V-

Error Histogram with 20 Bins

Best Validation Performance is 0.00093783 at epoch 418
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